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1 The Bias-Variance Trade-off

In James et al. , a model has the form
Y =f(X)+e

The irreducible error € represents something that cannot be captured by variables in X, no
matter how complicated f is. The goal of statistical learning is to obtain a good approx-
imation f of f, using training data available. The estimation, f , can have variance and

bias.

e Variance refers to the amount by which f would change if we estimated it using a
different training data set. Since the training data are used to fit the statistical learning
method, different training data sets will result in a different f . But ideally the estimate
for f should not vary too much between training sets. However, if a method has high
variance then small changes in the training data can result in large changes in f . In

general, more flexible statistical methods have higher variance.

e Bias refers to the error that is introduced by approximating a real-life problem, which
may be extremely complicated, by a much simpler model. The definition is bias( f ) =
E( f) — f. For example, linear regression assumes that there is a linear relationship
between Y and X,...,X,. It is unlikely that any real-life problem truly has such a
simple linear relationship, and so performing linear regression will undoubtedly result

in some bias in the estimate of f.
The mean squared error over training data Tr = {(z;, y;)}7, is
MSEz, = Avejere [y — f(2:)].
The mean squared error over test data Te = {(x;,y;)}™%, is
MSEre = Aveiere[y: — f(1:)]”.

The expected test MSE can be decomposed as variance of the estimation, plus bias

squared, plus the variance of the irreducible error:

E (y — f(x))2 = Var(f(x)) + bias(f(x))2 + var(e)

where (z,y) is an unseen example, and we assumed that the error ¢ has mean zero and fixed
variance var(e), so that E(y) = f(x). Suppose for a moment that the estimate is unbiased,
and there is also no irreducible error. Then the mean squared error would be solely due to

the variance in our estimate. In general, three factors can contribute to the test MSE: the
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variance of the estimate, how well our function f approximate the true f on average, and
errors that are out of our control.

A less flexible model typically has more bias, e.g. a constant estimate, but these models
can also have low variance, i.e. they do not have sensitive response to different training sets.
Conversely, a more flexible model typically has more variance and less bias. Depending on

the true data-generating process,as we increase model flexibility three cases can happen:

(1) Typically, the variance should increase and the bias decrease, but as the model becomes
over-flexible, there is little further reduction in bias, but the variance can continue to

increase. This results in a U-shaped test MSE curve as a function of flexibility.

(2) If the true model is linear, then as we increase flexibility starting from linear model,
there can be almost no gain in bias reduction, but the variance continue to increase.

This results in an upper-shaped test MSE curve.

(3) If the true model is highly non-linear, then as we increase flexibility there can be

dramatic reduction in bias, so that the test MSE can be L-shaped.



2 Linear Methods for Regression

2.1 Linear Regression

In linear regression, we assume a linear relationship between inputs and outputs: v = 87 x.

We choose 3 so as to minimize the RSS

(B)=(y—XPB)' (y - XB) = lly - XB (1)

where y is the n-dimensional response data, X is the n x p feature data. The gradient and
Hessian of ¢(3) are

0L(B) 0L(B)
B oBoB"
Assume X7 X is positive definite (< X is full-rank < X7 X is full-rank), and let 9¢(3) /08 =

0 we get the solution

= 2XT(y - XP), =2X"TX.

B=(X"X)"'X"y.
Let H = X(XTX) !XT We see that g = X3 = Hy, so the predicted value for each
response in the training data is a linear combination of all the responses. H is the projection
matrix, which projects y into the space spanned by columns of X. Note that ¢(8) =
|y — X 3]|? is the squared norm between the two vectors y and X3, so we are minimizing
the distance between them. The solution is the projection, namely y — X7 3 should be

perpendicular to columns of X, so we should have X; - (y — X7 3) = 0 for each column
X;,i=1,....,pof X,s0 XT(y— XT83) =0.

2.1.1 Online least squares

We want to recompute the parameters 3 as new data point (&,.1,yn+1) arrives, without

appending the new data point to X and re-applying the formula. Let

Xn Y(n
X(n+1) = T( ) o Y+1) = & ) X(Tn+1)X(n+1) = (X(:CL)X(n) + wn+1wz;+l) :

wnJrl Yn+1

Using the Sherman-Morrison formula

Aty A1

A Ty-1 _ A—l .

(A+uv?) 1+0TA 1y

we have

(Xt X)) = (XX + Ton1Thy)
—1
(X&)X(n))—lmn+1w£+l (X&)X(n)> (2)

-1
L al, (X0 X)) @

= (X5 X)) -


https://en.wikipedia.org/wiki/Sherman%E2%80%93Morrison_formula

We let +,, denote one over the denominator in Eq. (2). The formula for B,41) is

Bn+1) = (X@+1)X(n+1))_l X i) Yns)

(X(Tn)X(n) + wn+1wg+1)_1 (X(:Z)'y(n) + iL‘n+1?Jn+1)

= |:(X(1;L)X(n))_1 — Vn (X(j,;)X(n,))fl w,,,ﬂ:cf“ (X(I;L)X(n))il] (X(I;L)y(n) —+ wn+1yn+1)
(

-1

T T T
B

— 7 (XD X)) @@l (X5 X ) (XE yw)

[

B(n)

— In (X(I;L)X(n))il ZD,,,+1$3;+1 (X(Z;L)X(n))ilmn—l-lyn-‘rl

1
= IB(’I'L) + (X(T;L) (n)) Ln+1 | Yn+1 — ’Vnwg-H (Xg;)X(n)) Ln+1Yn+1 _’Ynajg-s-l/@(n)

vV
= YnYn+1 according to the definition of v,

= Bw) + Kn(Yni1 — mg-l—lﬂ(n))

-1
with K, = v, (X(T;L) (n)> Tp11. Thus we can adjust the parameters by the prediction

error of the new point.

2.2 Ridge Regression

In ridge regression, the objective function to be minimized is

UB) = lly — XB* + AlBII" (3)

We can view ¢(3) as a Lagrangian, so that minimizing Eq. (5) is equivalent to

minlly - X8I° st |BIP<s (4)

for some s > 0. For every A > 0 there is a s > 0 for which the two minimization problems
are equivalent. Thus we are minimizing a quadratic function over a closed ball of radius /s
centered at the origin. See Fig. 1a for illustration. We see that the constrained optimization
indeed shrinks the coefficients toward the origin.

The gradient and Hessian of ¢(3) are
%5) =—2X"(y - XB) + 2A\I,3, ;;g;)T

Equating the gradient to zero we obtain the ridge coefficients

=2XTX +2)I,.



B B

(a) Tlustration of the Ridge regression. The (b) Illustration of the Lasso regression. The

constraint is ||3]3 < s. constraint is ||3]|1 < s.

(XTX +ML)B=XTy = B=(X"X+A,)'X"y.

We see that the term AT, is added to the denominator compared to OLS, so indeed 3 is now

smaller.

2.3 Lasso Regression

In lasso regression, the objective function to be minimized is

UB) = lly = XBI* + B (5)

where [|B]l; = >_%_, [8;]. We see from Fig. 1b that since the constraint is a polygon, lasso
regression may force some of the coefficients to be exactly zero. We comment that there is
no closed-form formula for the solution, and to train the model we have to rely on algorithms
such as coordinate descent.
It is also possible to give a Bayesian interpretation of ridge and lasso. Recall the posterior
of the parameter 3 given data {x;, y;}", is
p(B)p (i, yitiey | B) _ pB)p (uidic | {zitis,, B)

PO = () p(d | (=)

MOl 20) ) T, )

Assuming p(y; | ;, B) is Gaussian with mean ' 3 and variance o2,



o if we assume independent uniform priors 5; ~ U(—M, M) for j = 1,...,p then the

(yi — w?ﬁ)Q/%QH

density of 3; is constant, so

||'M:
o

arg mgxp (B | {xi, i}y = arg mgx [constant - exp {—

n

= arg min [Z(yi - w?ﬁ>2] :

i=1
We get the OLS estimates of the coefficients.

e if we assume independent Gaussian priors 3; ~ N(0,¢) for j =1,...,p then

argmﬁaxp(,@ | {xi, i }iy) = argmax [exp{ ZB /20} Xp{ Z  — x1 3)%/20° }]

i=1

n

= argmﬁin [Z( —x; B8)>+ (67/c) Zﬁ ]

i=1
so that we recover the ridge regression.

e if we assume independent Laplace priors p(f5;) ~ L(0,b) with p(8;) = e~ i=1 B3I/t for
7 =1,...,p, then we will get

argmguxp(ﬁ | {xi,yi}i,) = arg max [exp{ Z |6J\/b} -exp{ Z —x!'B)?/20? }]

=1

n

= argmﬁin [Z( —x] B)? + (207 /b) Z ]

i=1

so that we recover the lasso regression.


https://en.wikipedia.org/wiki/Laplace_distribution

3 Linear Methods for Classification

3.1 Logistic Regression
We first model the probability of the two labels, so we represent them as {0,1} instead of
{—1,1}. In logistic regression, we model p(x) =P{y=1|x} =1—-P{y=0] x} as

p(z) = o(Bx)

where & = (z1,...,2,)T, 8= (b1,...,5,)T, and o(z) = 1/(1 4+ e™®) is the sigmoid function,
so that p(x) € [0,1]. Alternatively, we model the log-odds as a linear combination of the

After we trained the model, we can use it to predict the class of a new data point by

{1 if p(x) > 7

0 ifplx) <7

inputs:

flx) =

where 7 € [0,1] is some threshold. It is clear that logistic regression draws a hyperplane
in the input space: o is monotonically increasing, so o(87x;) = (BT x,) if and only if

5T=’131 = ,3T$2-
3.1.1 Estimation of Parameters

MLE We can estimate 3 using maximum likelihood. The log-likelihood is

£48) = log [ [ pla:)(1 = pla:)

=2 {wilogp(@:) + (1= yi) log[1 — p(i)]} (6)

— Z {y:B"z; + log[l — p(x;)]} .

Recalling ¢’ = o(1 — o), the gradient and Hessian matrix of ¢(3) is easily computed as

(B) < T oL(B) - T T
PP ST wyi—p(@)] = XT(y—p), ) N paTp(@) [1—pla)] = - X WX,
98 ;:1 lyi—p(;)] (y—p) 98087 ;:1 p(a;)[1-p(;)]
where
e X isthe n x (p+ 1) data matrix with rows &, i =1,...,n;
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o y=(y, .,ya)" and p = [p(a1), ..., p(xn)]";

e W is the (n x n) diagonal matrix with w; = p(a;)[1 — p(x;)].
Since the gradient is not a linear function of 3, it is not easy to obtain a closed-form formula

for 3 by setting the gradient to 0. It is informative to see how we maximize ¢(3) iteratively

via Newton-Raphson:

a0 aam]‘l [aam}
. & {aﬁaﬁT a0 | OB g(t)h

We find
B =Y+ (XTWO X)X (y — p")
— [(XTWOX) (XTWOX)]BY + (XTWH X)X [W@)W(w-l} (y — p)
= (X"TWOX) ' XTWO [ X 30 1 W(t)’l(y —pM)]
— (XTW(t)X)_lXTW(t)Z(t), where z(® — [Xﬁ(” + W(t)*l(y — p(t))]

and W® and p® are W and p evaluated at B%). This is the iteratively re-weighted least

squares: at each step we select 3 that minimizes the weighted least squares
Y w2 — 2l ) = (2 - XB) Wz - XB)
i=1

where z(") is the adjusted response.
So we can view the training process of logistic regression as repeatedly fitting least squares
(drawing straight lines) until convergence, each time updating the response data and the

weights.

Loss Function We can also define the —¢(83) as the loss function, and maximizing the

log-likelihood is equivalent to minimizing the loss function. For each term in Eq. (6),

Li(B) = —y:B x; —log[l — p(x;)] = —y:B  x; — log(1 + eﬁT””i)’1
= —y:B x; + log(1 + ® ™)
= log(e‘yiﬁ%i) +log(1 + eBTm")
= log (e*yz'BTwi + e(lfyi)ﬂTwi) '

We can see that letting y € {0,1} does not give us a very easy-to-remember formula. So at
this point we try another representation of the response: we let y € {—1,1}, and let p(x) =
P{y =1|x} = o(B"x). Because of the property of the sigmoid function o(—z) = 1 —o(z),

11



we have P{y = —1 | &} = 1 —P{y = 1 | *} = p(—x). So using this representation the
likelihood of each data point is p(x;,y;) = o(y;B3T x;). The log-likelihood of the data is

n

((B) =log [ [ p(@i v:) = log [ [ o(wiB" ;) = D _logo(y:8 )
i=1 =1

=1

n -1
- Z log (1 + e_yiﬁTmi>

i=1
= — Z log (1 + e*ylﬂT‘“) :

i=1
Now we can see that

Li(8) = log (1+ ¢7#"=)
is a natural loss function. Maximizing the likelihood is equivalent to minimizing the loss.
The gradient of this new ¢(83) is V/(8) = XTY (1 — p) and the Hessian is V*((3) =
—(XTY)W(XTY), where Y is the diagonal matrix with y;, i = 1,...,n on its diagonal.
So under this representation we can still interpret the training process as repeatedly doing

least-squares.

3.1.2 More than two classes

Multinomial logistic regression is also called softmax regression. When we have to give
probabilities on £ different classes, we have to specify at least k — 1 probabilities. The model

1S
exp(8] x) .
() = 1.k
S gy L

To train the model we can use MLE, or equivalently use cross-entropy as the loss function.

3.2 Generative Learning

In generative learning, we take an indirect approach to do classification. Rather than learning
a function f : R? — [0,1] and use it to model the probability P{y | =}, we model the
distribution of the inputs P{z | y} under different classes y, as well as the distribution of the

labels P{y}, then we use Bayes’s rule

- P{x|y}P{y}  Plz|yiP{y}
Folin =901 = TP yPly)

(7)

to model the probability of y given x. To make prediction, we select the largest P{y | =},

C(z) = arg m;iXIP’{y | 2} = arg m&x% = arg man]P’{x | y}P{y}.

1.e.

12



Model training is simple: given our setup, what we need to learn is the parameters of the
distributions of z and y. So we can use maximum likelihood estimation to get the parameters

from the data, and then we can use the estimated parameters to make predictions.

3.2.1 Gaussian Discriminant Analysis

In Gaussian discriminant analysis (GDA), we assume the features in each class have multi-
variate normal distribution M (u,, 3,) and the labels have categorical distribution (p1, . . ., p).
In linear discriminant analysis (LDA) it is assumed that the normal distributions for each
class has the same variance, but only differ in their means. In quadratic discriminant analysis
(QDA) the normal distribution of each class can have different means and variances.

The (maximum likelihood) estimation of parameters is of no difficulty:

e [1, is the mean of the features in each class;

e p; = n;/n where n; is the count of class i in the training data;

o 3= (1/n) X0, (@ — py,) (@ — py,)" for LDA;

o 2, = (1/n) 0, Iy = y) (@ — py,) (@i — py,)" for QDA.

Let’s first see the case for one predictor and two classes, and then for p > 1 and y €
{1,...,k}.
LDA, p=1and y € {1,2} The Gaussian density is

fy(z) = ! exp{—w} , y=12.

2mo 202

We predict y = 1 if and only if

p1fi(x) > pafo(x)

I
log p1 + log fi(x) > log py + log fo(x)
U
(z — M1)2 (z — ﬂz)z
1 - > -
0g 1 5o~ > logp 503
U
13 U 1 p3 2
(logp1 — 5;) + ;x > | logps — 352 + ;x.

We see that the decision boundary is linear.
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LDA,p=1and y € {1,...,k} The Gaussian density is

fylw) = — exp{—w}, b=l ok

2ro 202

We predict label j € {1,...,k} if and only if

pifi(x) > pifi(xr) Vi#j
U

9
logp-—lﬁ I 1ng._1“_12 v By Vi # j.
J 20.2 0.2 2 20-2 0—2

LDA, p>1and y € {l,...,k} The multivariate Gaussian density is

1 _ TE_I _
fy(w):Wexp{—(w l'l'y) 5 (m uy)},yzl,,..,k‘.

Similar to the previous cases, we predict j if

pifi(x) > pifi(x) Vi#j

N8
log p; + log f;(x) > log p; + log fi(x)
N8
1 Ts—1 1 T—1
logpj — 5(33 — ;)" X (T — py) > logp; — 5(93 — ;) X (x — )
a8
1 5 _ 1 _ _
<1ngj - 5#?2 lp,j) +z'® lp,j > (logpi — §uiTE 1%) + T2,

The decision boundary is again linear. Let us call

1 _ _
dy(x) = log(py fy(x)) = (logpy — 5“’52 1uy> +2'E 'y,
the discriminant function. It is a linear function of . The prediction rule is
C(x) = argmax{d(x), d2(x),...,0(x)}.

QDA, p > 1 and y € {1,...,k} If we allow the Gaussian distribution in each class to

have a different variance, then the discriminant function becomes

oy(x) = log(p, fy(x)) = (logpy - %log |2y‘) - %(37 - “y)Tzzjl(m — Hy)-

14



We see that the decision boundary is now quadratic.
Once we have the discriminant functions, we can get the probabilities of y given x (Eq. (7))
as

Ply [z} = kpyfy(w) @

=— .
> pyfy(@) > edv@)
y=1 y=1

We see that the model of GDA has the same form as logistic regression. The two model

differ in their estimation of parameters. In logistic regression no assumption is made on
distribution of the inputs, and we use maximum likelihood to estimate the parameters.

Thus logistic regression is more robust, but it also requires more training data.

3.2.2 Naive Bayes

In naive Bayes model, we take the same strategy as explained at the beginning of Section 3.2,

but the additional assumption is that in each class, the distributions of the features are

independent, namely for & = (x1,...,z,)
Pla |y} = P{ay | y}P{as [y} - - Pz, |y}
Thus, we can specify a distribution f,(x;) for each feature z;,4 = 1,...,p. Then we can

estimate its parameters using MLE, ignoring other variables. When we get the estimated
distribution for each feature, we can multiply them up to get the distribution of the inputs.

To make prediction, we calculate

oy(x) = log(py fy(x)) = log(p,) + log(f,(x)) = log(p,) + logH fy(@i)

i=1
= log(py) + Z log f, ()
=1

and we select the largest ,(x):

C(x) = argmax{0;(x), d2(x), ..., d(x)}.

For example, if we assume each feature follow a Gaussian distribution with different mean

and variance, then the discriminant function is

dy(x) =logp, — Z M

202
i=1 Yy

so the decision boundary is quadratic.
We can see that naive Bayes model can conveniently handle data with both quantitative

and qualitative variables.
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4 Beyond Linearity

In this section, we assume the input = is one-dimensional.

The basis expansion model is

y=Bo+ Bibi(z) + -+ Bpby(x) + €
where b1(+), ..., by(-) are fixed and known.

e Polynomial regression: b;(z) = a7.
e Step function regression: b;(z) = 1(¢; < = < ¢j41).

e Piecewise polynomial regression: b;(z) = 271(¢; < z < ¢;j41). The problem is that
there are non-continuities at the knots. To address this problem we introduce regression

and smoothing splines.

Splines use different polynomials to fit different regions in the input space, but at the
same time it ensures that the boundaries between those different polynomials are continuous
or smooth. Thus, it adds flexibility to the linear regression model, while maintaining the
local constancy assumption.

Formally, letting {&;,...,£x} denote a set of knots, a spline f(x) of order d + 1 is a
piecewise polynomial of degree d that has continuous derivatives up to order d — 1. We can

use the truncated power basis

S (l' _€k>d7w > Sk
bj(x):'rj7]:177d7 bd—l—k(x):(I_gk)i: k?zl,,K
O,I‘ S gk’a

so that the model is

y=Po+ 1w+ -+ fata+ Barr(x — &)] + -+ + Basx(z — €k + €.

For example, a linear spline with one knot & is f(z) = Bo+ 12+ PG2(x—&1 ). When z < &
it is f(z) = Bo+Srx; when x > & it is f(z) = Bo+ frz+ Sa(z —&1) = (Bo— B261) + (B + Ba) .

4.1 Cubic Splines

The cubic spline model with knots {&1,..., &k} is

f(l’) = By + iz + 52:1;2 + 53:53 + 54(37 - gl)i 4+t 53”((:6 B 5}()1 (8)

16



From Eq. (8) one can check that

3
FE&) =Bo+ D Bih+ D Basil& — &% = F&),
=1

i<k
3
FUE) =B+ Y B+ 3Builé — &)% = F1(&),
=2 i<k
FI(&) = 2B+ 6858k + > 6Buri(& — &) = F(ED).
i<k

fork=1,..., K.

4.2 Natural Cubic Splines

A problem with cubic spline is that the 3rd degree polynomial at the end of the data (i.e.
when x — +00) is very erratic. Natural cubic spline adds the constraint on top of cubic
spline that the function should be linear outside the range [{1, k]

One can obtain the natural cubic spline model by using the following basis

Ni(x) =1, No(x) = z, Nayy(x) = (x — fk)i — (x — fK)i _ (x — fK—l)i —(z — fK)i

Ex — &k Ex — Ex-1

for k=1,..., K — 2. The model is
y = PoNi(x) + BiNa(x) + BoN3() + - - + Pr—1 Nk (x) + €

and from this we can use least squares to estimate the coefficients.

The basis is obtained as follows. We start from a cubic spline

3 K
fla) =Y B’ + Oz — &)L (9)
i=0 k=1
and add the two constraints

v <& = () =28 + 6030 =0 (10)

K
x> ¢k = f(x) :252+6ﬁ3$+629k(37—§k) =0 (11)
k=1

From Eq. (10) By = 83 = 0, and from Eq. (11) xszzl 0, = Zszl 01.& = 0 we get Zle O =
0 and Zszl 0., = 0. We further have

O ==Y b (12)



and

K K—1 K2 e ¢
0= ;ek(fK — &) = ’; On(lr — &) = Ox1=-— Z ek#. (13)
Take Eq. (12) and Eq. (13) into Eq. (9), we get
K-1 K—1
f(iU):ﬁo—i-ﬁw—i-Z@k(l’—fk) (x —&x)} Zek
B
ot Ba+ Y Bl — &) — (o — €]
k=1
K—1 e e 3
= fo + frz + ; Ok (§rc — &) - (@ gk)g;{ —(ka )
K—2
[(z — &)% — (& — &x)3]
:ﬁo—l-ﬁlst—l—;ék(&(—fk)' kﬁ;—fk e
— 3 _ _ 3
+ 0k 1(Ex —Ex—1) @ = Er)s = (@ = &)l
§k —Ex—1
K—2
_ (z—&)} —(@—¢&x)i  (@—&k-1)} —(@— &)L
_5”61”,;5”’“[ - .

= BoNi(x) + BiNo(x) + BoN3(z) 4 - - - + B -1 Nk ().
How do we determine the knots? In practice it is more common to choose the number of

knots via cross—validation and then place knots at uniform quantiles of the input.

4.3 Smoothing Splines

Smoothing splines are obtained by minimizing the penalized RSS function

Sl fP+A [ fwrdn Az

within the space of C? functions. It can be shown that the solution is a natural cubic
spline with knots at xi,...,x,. Thus, knowing that the solution has the form f(z) =

> j—1 Bj-1N;(), we can re-formulate the problem as minimizing

(y = NB)'(y — NB) + 28" QB
where N = Nj(x;) and Qnpp = [ Nj(2)N{(x)dz. The solution can be easily obtained

by noticing that the above function is the same as the one of the ridge regression, with the

only difference that I, is replaced by . Hence

B=(N"N+0)"'NTy, f(z)=> Bi-1N;()
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Note that this is not the same natural cubic spline that one would get if one applied the basis
function approach with knots at x4, ..., x,. Rather, it is a shrunken version of such a natural
cubic spline, where the value of the tuning parameter A controls the level of shrinkage.

The predictions for the training set are
y=N(N"N+\2y) 'N'y = S,y.

Hence, smoothing splines are linear smoothers and S plays the same role of the projection
matrix H in linear regression. The effective degrees of freedom of smoothing splines is
defined as

trace(Sy) = Z Spii -
i=1

The effective degrees of freedom depends on A\. As A — oo the effective degrees of freedom
go to 2, while when A\ = 0 the effective degrees of freedom are n.

Similar to linear regression, there is also a formula for computing the leave-one-out cross-
validation MSE for selecting A:

n

1 i 1 & i — Ui ?
MSEON) =~ i~ £ @)l = -3 [1@/——5;1/[}}

i=1 =1

4.4 Local Regressions
There are some non-parametric form of regressions, all making use of local information:

e K -nearest neighbors regression:
§=[(z) = Avely; | z; € Nk ()]
where N (x) is the neighborhood of @ containing the K closest training data. K-
nearest neighbors estimates change in a discrete way leading to a non-smooth f :
e Nadaraya—Watson kernel-weighted average:
> Ki(x, @;)y;

§=flx) == with Ky (x, ;) = D(|jx — ;|| /)).
Z Ky(x,x;)

=1

D : R — [0,1] is a kernel symmetric around the origin, whereas A is a bandwidth
or smoothing parameter which defines the width of the local neighborhood. Larger A

implies lower variance (smoothness) but higher bias.

Unlike K —nearest neighbors, kernel methods rely on a weighted average to predict y at

a given x. In this average, the closer x; to x, the higher y; contribute to the estimate.
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This gives us a smoother estimate. However, unlike K—nearest neighbors, the width of
the neighborhood does not depend on the sparsity of the data. If we want to include

this feature, we can allow the smoothing parameter to vary with = (“loess”).

Locally weighted linear regression: there is a problem with locally weighted averages:
they can be badly biased on the boundaries of the domain, because of the asymmetry of
the kernel in that region. Locally weighted linear regression solves a separate weighted

least squares problem at each target point x:

arg r%inz Ky(z,z;)(y; — Blz;)? = ar%min(y — XBe) Wiy — XBe)
© =1 @

where W, is a diagonal matrix with W) = K\ (2, ;) for ¢ = 1,...,n. The solution
is

B = (X"W,X) ' XTW,y.
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5 Decision Tree Learning

5.1 Decision Trees

Regression and classification trees divide the input space into M (a hyperparameter) distinct
non-overlapping regions Ry, ..., Ry;. For every new input that falls into the region R,,, we
make the same prediction c¢,,, which is the mean or mode for the training samples in R,,.

Namely, we aim to learn a function of the form

f@)=> cul(@ € Ry).

m=1

For building a regression tree, we would like to divide the input space in so as to minimize

the RSS y y
RSS =Y RSS,=> Y (yi—cm)

m=1 m=1i:x;ERm
However, this is computationally infeasible (NP-complete), so we use a top-down greedy
method, the recursive binary splitting method, to train our decision tree model. We first

do a single split along a single variable so as to minimize the RSS resulted from the split.

Namely, we find a variable x; € {x1,...,2,} and a split s (among all n splits) so as to
minimize
Z (yi - CR1)2 + Z (yi - CR2)2
i:x; €R1(5,8) i:x; € Ra(4,s)

where Ry(j,s) = {x : z; < s} and Rs(j,s) = {x : x; > s}. Thus, in the first step we have
to do pn search (p is the number of variables, n is the number of training samples). We
can then do the same thing recursively in each region generated by the first step. Note that
sometimes we may prefer not to split a node: if all the split of a node offer no reduction in
the loss, then we do not have reason to perform the split. Thus, the decision tree built in
the end is not necessary a complete binary tree. It may be unbalanced.

For building a classification tree, we can replace RSS by other criteria like the miss-
classification rate. We generally predict the label of a sample falling in region R,, as the
mode of the labels in R,,, or equivalently the label with the largest proportion:

1

Cm = arg ml?x{pm,k} with Pmk = ﬁ

Wy, =k),k=1,... K.
©:x;ERm
Hence, for the training samples falling in region R,,, we will classify correctly all samples
with the most common label, and incorrectly for samples with all the other labels. The

miss-classification rate in region R,, is thus one minus the proportion of the most common
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label:
Z I(y; # arg m]?x{pmk}) =1- ml?x{pmyk}.

’ m‘ i, ERpmy

We could use the miss-classification rate in place of the RSS to fit the classification tree.
However, it turns out that classification error is not sufficiently sensitive for tree-growing,

and in practice two other measures are preferable.

e The (ini index is y
k=1

The Gini index is a measure of total variance across the K classes. It is not hard to
see that the Gini index takes on a small value if all of the p,,;’s are close to zero or
one. For this reason the Gini index is referred to as a measure of node purity — a small

value indicates that a node contains predominantly observations from a single class.

e The cross-entropy is
K
Dm = - me,k log<pm,k)‘
k=1

One can show that the entropy will take on a value near zero if the p,, ;’s are all near
zero or near one. Therefore, like the Gini index, the entropy will take on a small value
if the node is pure. In fact, it turns out that the Gini index and the entropy are quite

similar numerically.

To see the advantages and disadvantages of trees, we quote the following from https://scikit-

learn.org/stable/modules/tree.html:
Some advantages of decision trees are:

e Simple to understand and to interpret. Trees can be visualized.

e Requires little data preparation. Other techniques often require data nor-
malization, dummy variables need to be created and blank values to be

removed. Note however that this module does not support missing values.

e The cost of using the tree (i.e., predicting data) is logarithmic in the number

of data points used to train the tree.

e Able to handle both numerical and categorical data. Other techniques are

usually specialized in analyzing datasets that have only one type of variable.
e Able to handle multi-output problems.

e Uses a white box model. If a given situation is observable in a model,

the explanation for the condition is easily explained by boolean logic. By
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contrast, in a black box model (e.g., in an artificial neural network), results
may be more difficult to interpret.

e Possible to validate a model using statistical tests. That makes it possible
to account for the reliability of the model.

e Performs well even if its assumptions are somewhat violated by the true

model from which the data were generated.
The disadvantages of decision trees include:

e Decision-tree learners can create over-complex trees that do not generalize
the data well. This is called overfitting. Mechanisms such as pruning (not
currently supported), setting the minimum number of samples required at
a leaf node or setting the maximum depth of the tree are necessary to avoid
this problem.

e Decision trees can be unstable because small variations in the data might
result in a completely different tree being generated. This problem is miti-
gated by using decision trees within an ensemble.

e The problem of learning an optimal decision tree is known to be NP-
complete under several aspects of optimality and even for simple concepts.
Consequently, practical decision-tree learning algorithms are based on heuris-
tic algorithms such as the greedy algorithm where locally optimal decisions
are made at each node. Such algorithms cannot guarantee to return the
globally optimal decision tree. This can be mitigated by training multiple
trees in an ensemble learner, where the features and samples are randomly
sampled with replacement.

e There are concepts that are hard to learn because decision trees do not
express them easily, such as XOR, parity or multiplexer problems.

e Decision tree learners create biased trees if some classes dominate. It is
therefore recommended to balance the dataset prior to fitting with the de-

cision tree.

5.2 Bagging

Bagging (bootstrap aggregating) can be used to reduce variance. In bagging , B bootstrap
sets of samples from the training data are generated. A tree f,(x) is then fit to each of them.

For regression, the final prediction is the average of the predictions made by the B trees:
1B
fle) = 5 2 hia)
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For classification, the final prediction is the mode of the B predictions

f(x) = mode{fi(x),..., fo(x)}.

On average, each bagged tree makes use of around two-thirds of the observations. The
remaining one-third of the observations not used to fit a given bagged tree are referred to as
the out-of-bag (OOB) observations. We can predict the response for the ith observation using
each of the trees in which that observation was OOB. This will yield around B/3 predictions
for the ith observation. In order to obtain a single prediction for the ith observation, we
can average these predicted responses (if regression is the goal) or can take a majority vote
(if classification is the goal). This leads to a single OOB prediction for the ith observation.
An OOB prediction can be obtained in this way for each of the n observations, from which
the overall OOB MSE (for a regression problem) or classification error (for a classification

problem) can be computed. The resulting OOB error is a valid estimate of the test error for

the bagged model, since the response for each observation is predicted using only the trees

that were not fit using that observation.

5.3 Random Forests

If the trees constructed in bagging are highly correlated, then averaging over them does not
yield a great reduction in variance. Random forest is an improvement over bagging that
attempts to de-correlate the trees. In random forest method, we bootstrap B data sets from
the training data set, and grow a tree on each data set. When building these decision trees,
each time a split in a tree is considered, a random sample of m predictors is chosen as split
candidates from the full set of p predictors. The split is allowed to use only one of those m
predictors. A fresh sample of m predictors is taken at each split, and typically we choose
m = ,/p — that is, the number of predictors considered at each split is approximately equal
to the square root of the total number of predictors.

The main difference between bagging and random forests is the choice of predictor subset

size m. For instance, if a random forest is built using m = p, then this amounts simply to

bagging.
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6 Gradient Boosting

6.1 Motivations

We follow intuitions from Friedman . Recall that in gradient descent, when we want to

minimize some function ®(P), we solve the problem as

P'=) pn
m=0
where pg is an initial guess and
m—1
i=0

and p,, = argmin, ®(P,,_; — pVP(P,,_;)). We can take an analogous approach when we
want to find a function ' : R”? — R that minimizes the (expected) loss ®(F) = E 5, L(y, F).
We can let

where fy is an initial guess and

m—1
fu=—pmVO(Fr1) with Foi=>» f
1=0

and p,, = argmin, ®(F,,_1 — pVO(F,_1)).
In reality, where we only have finite amount of data {x;, y;}?_,, we replace the (unknown)
objective function by the empirical loss ®(F') = > | L(y;, F(x;)). However, now we are

only able to calculate the first derivative at finite set of points @1, ..., @,:

) OL(y;, F(x;))

1=1,...,n
OF (x;) F(&)=Fp_1(z)

fm(wl> = —Pm

so we do not know the value of f,,, at other points x € RP. So at this point we have to use some
parametric function h(x;a,,) to approximate f,,(x). We choose a,, so that {h(x;;a)}",
is as parallel to the negative gradient {—0L(y;, F'(x;))/0F (x;)}"_, as possible. This we can

do using least squares. This gives rise to the gradient boosting algorithm Algorithm 6.1.1.

6.2 Boosting Schemes

Let’s now see this algorithm with different loss functions and base learners h(x; a).
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Algorithm 6.1.1 Gradient Boosting

1. Fy(x )—argmmZL Yiy P
2: form—ltono

L(y;, F(x;
s = — Qe ) L=l
@) lr@=rm@
4: —argmmz — Bh(zx;; a))?

5: Om —argmmZL Yi, Frn_1(x;) + ph(xi; an))
=1

6: Fo.(x) = Fo1(x) + pmh(a: a,)

7. return Fy(x) —|—me T;A,).

6.2.1 LS-Boost

If our loss function is L(y, F') = (y — F')?/2, then the negative gradient is 7; = y; — Fy_1(;),

i.e. the residuals. So with this loss function the algorithm performs iterative fitting of current

residuals.
1. LS-Boost
2: Fo=y
3: for m =1 to M do
4: U=y — Fn(z), i=1,....n
& (Pms @) = argming,, 32, [5; — ph(i; a))?
6: Fo(z) = Foi(x) + ph(z; an,)
7: return Fy(x)

6.2.2 LAD-Boost

For the least absolute deviation L(y, F') = |y — F|, one has

OL(y;, F'(x;))

Yi = — OF () = sign(y; — F-1(x;)).

F(:I:):mel (:1:)
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This implies that h(x;a) is fit (by least-squares) to the sign of the current residuals. Also

the line search is

P = argmmZIyz Frna (i) — ph(i; am))|

Yi — Frna(
—argmin > e )| il ‘
i=1 (2 m
7 _Fm— 1 "
= mediany {yhTalnSB)}i:l . w; = |h(xs; an)|

Inserting these results into Algorithm 6.1.1 yields an algorithm for least absolute deviation

boosting, using any base learner h(x;a).

1: LAD-Boost

2: Fy = median {y;}

3: for m=1to M do

4: g = sign(y; — Frn—1(x3)), i=1,...,n

o a, = argming, y [y — ph(zi; a)]?

0: pm = mediany {(y; — Fo1(:))/P(@is ) }ioy s wi = [W(T3; @)
7 Fo(zx) = Fpoi(x) + ph(z; an)

8: return Fy(x)

6.2.3 AdaBoost

What about the exponential loss function L(y, F') = e %f when y € {—1,1}? When y and
I have the same sign and F' has large absolute value, then yF >> 0 so the loss function is
close to zero, while if y and F' have different signs, —yF > 0 so the loss can be very large.
The negative gradient of L is

OL(y:, F(z:))

g. _ — — yie*yi

: Fm—l(a:i).
OF (x;) F(z)=Fp_1(z)

Let wi(m) = e Vilfm(®) = [(y;, F_1) for i = 1,...,n. We see that §; = yw ) for i =
1,...,n, namely the negative gradient at each step is the (positive or negatlve) loss at the

previous step. This makes sense: for example, if y; = 1 is positive and the loss wl(m)

is large,
this then implies F,,,_1(x;) < 0 has a large absolute value, so on the next iteration we should
increase F'(x;) by a large amount, to steer it at the positive direction.

We next fit {g]l = g™ }n as in line 4 of Algorithm 6.1.1

=1

n 2
= arg mm — Bh(x;;a)]” = arg min yiw(m) — Bh(x;;a)| . 14
a,f ¢
=1
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We can show that for any 5 > 0 the solution to Eq. (14) is the parameter a,, such that

= arg mme (y; # h(z;; @), (15)

i.e. we should select a so as to minimize the weighted number of misclassifications. Indeed,

writing out the objective function it is (we omit the superscript in wgm))

n

Y lwi = (@)’ = D (wi— B+ Y (wi+h)

i=1 yi=h(x;;a) yi#h(zi;a)
= Z (wf —2w; + 52) + Z (w? + 2w; + 62)
yi=h(x;a) yiFh(xi;a)
=92 Z w; — Z w; +wa+n62.
yi#h(x;;a) yi=h(xz;;a) i=1

The term in the parenthesis is

Z w; — Z w; = sz (y; # h(x;;a szl—]lyﬁéh(wz, a)))

yi#h(zi;a) yi=h(zi;a)
—22(«% yz#hw“ sz

so we see that minimizing the objective function in Eq. (14) is equivalent to minimizing the
objective function in Eq. (15). After we found such a parameter a;,, we can then choose the

best p,, in line 5 of Algorithm 6.1.1:

Pm = arg mlnz L yzy m— l(mz> + ph(iL‘Z, ))

i=1
— arg mln § e yz Fm 1(wz)+ph(mzvam))
=1
n
= arg min E wi(m)e[*yih(wi;am)]'ﬁ'
r =1
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Let f(p) = o0, wi™elwh@sai)le We set f(p) =

n

f/(p) = Z [ ylh<w“ * )] wgm)e[iyih(wi;a;‘n)}.p = — wi(m)efp + Z wz(m)ep = 0

i=1 yi=h(xi;a,) yi#h(xisay,)

yiZh(zi;ak,) yi=h wuam)

e2p — m)
Yi

:h(wi;a’rn) ylih 'm

m)

B :110g21;w£’"> 1y # h(zzaz)] _ 11— e,

(
m n m g
Y pehiman) G 2 S W™y, # bz az,)) 27 ey,

where err,, = (Z?:l w ™ (y; # h(ws; a%))) / (Z?Zl wfm)> is the weighted error rate.

After we obtained a}, and p},, we then update the approximation as F,,(x) = F,,,_1(x)
pih(x,ar,). Let’s see what is the next gradient {yiwgmﬂ)}é . Recall we have let wz(m) =
e Vifm-1(@i) g0 .

+

1 . . . * e ¥
wz(m+ ) —e yzF’m(mz) —e¢ yz[Fm—l(w)“l‘pmh(wzyam)]

_ w@(m) . ePml-vib(@izar,)]
_ wz(m) . ePm PlyiAh(@sar, ) 1]
(

— oM | o 2onlyiFEh(ziak,)) = ph

Removing the constant factor, this is equivalent to updating wgm) as

1- m
) = e Lo L 1 £ i) (16)
ert,,
For all data points {(x;,y;)} that are correctly classified (I(y; # h(z;;af,)) = 0), the
weight stays the same: w(m+ ) = w-(m), while for all data points that are wrongly classified
(I(y; # h(xi;ak,)) = 1), their weights are all multiplied by exp [log <1e§”mﬂ = % If

the error rate err,, is low at the current stage, then =Zm

is large, so we magnify those
wrongly classified samples. We require that the base learner is at least slightly better than
random guessing, so err,, should be lower than 1/2, and consequently 1;‘3% should always

be larger than 1.
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In summary, when we use the exponential loss to classify y; € {—1,1}, the gradient is
the labels times the losses, so when we fit the gradient we are fitting the labels magnified by
the loss. To calculate the loss of the current step we just need to multiply the previous loss
by a factor as in Eq. (16).

1. ApABoOOST

2: Initialize the weights w; = 1/n,i=1,...,n

3: for m =1 to M do

4: fit h(z, a,,) to {ylwz(m)}n that minimizes err,,;

5: let p,, = log 1;%; -

6: update the weight as w™ " = W™ - exp {pm - I(y; # h(ws: ap))} fori=1,... n.
7 return Fy(x) = Zn]\le Pmh(x; ap,).

6.3 Gradient Tree Boosting

Gradient tree boosting is also called gradient boosted regression trees (GBRT). When the
base learner is tree h(x;a) = h(x; {b;, R;}]_,) = ijl bjl(x € R;), we can make a slight
improvement of the gradient boosting procedure. Recall we update our approximation as

J
Fou(@) = Fruet (@) + pm ¥ bjmL(T € Rym),

J=1

but we can write it as

J
Fp(@) = Fra(@) + ) jml(@ € Rjp)

j=1
With Vjm = pmbjm. We can first fit the tree to the gradient, obtaining { Rjy, }7_, and {b;m}7_,,
and then adjust the coefficient bj,,, of each region Rj,, to 7;m, so that

n J
{Vjm} = arg mi}l ZL (yi,Fm_l(:I:i) + Z’yjl(ac € ij)) )

M=t =1 j=1

Since regions are disjoint, we further have

’ij = arg mvin Z L(yz, Fm—l(mi) + ’7)

To summarize, when we do gradient boosting with trees as base learners, we can first fit
the tree to the negative gradient using least-squares as usual, but we can then adjust the
prediction in each region so as to further decrease the loss, instead of doing a line search and

multiply the predictions in all regions by the same constant. For example, if we use trees
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in LAD-BoosT (Section 6.2.2), at each step we can fit a tree with J terminal nodes to the

.....

Vjm = arg myin Z i — F—1(2:) — 7| = medianger;,, {yi — Fn-1(x:)},

the median of the current residuals in the region.

1. LAD-TREEBOOST

2: Fy = median {y;}

3: for m =1 to M do

4 g =sign(y; — Foi(x;)), i=1,...,n

5: {ij}i] = J-terminal node tree ({x;, 9;}7)
6: Vim = medianger,,, {yi — Fr_1(x)}

T F(@) = Froa(@) + X Yjml(@ € Ryp)
8: return Fy(x)

6.4 Comments

Other Loss Functions One can also do gradient boosting or gradient tree boosting with

other loss functions, for example the Huber loss
1

“(y — F)? _F|l<$6
Ly, F) = 2(?/ ) ly — F| <

o(ly—F|=06/2) ly—F|>09,

for which the negative gradient is

- OL(y;, F'(z;))

Y; =
8F(w2> F(x)=Fpn-1(x)
oy — Faa(z), yi = Fa(@3)| <0,
0 -sign(y; — Fo1(x)),  |Yi — Foa(@)| > 9,

or the negative binomial log-likelihood

L(y, F) =log(1 +exp(—2yF)),  ye€{-1,1},

or the multi-class cross-entropy

L({ys, Fi(@)}1) = =y log pi()
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where y, = 1(class = k) € {0,1} and pp(x) =Py =1 | ) = exp(Fk(a:))/2:;;1 exp(Fj(x)).
But the specific updates are somewhat complicated, so we refer to the original paper Fried-
man for details.

Regularizations To control for overfitting, we can use shrinkage:

Fo.(x)=F,1(x)+v-pnh(z;a), 0<v<IL

The two hyper-parameters v and M are related: for smaller v we need larger M.
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7 Support Vector Machines

Support vector machine (SVM) is a classification method that aims to find a hyperplane to
separate the data as best as possible. When the data is not linearly separable, soft margins
can be used. Also, we can use kernel tricks to map the input data to high dimensional space,

in which the data may become easier to separate. In this section, we assume our data is

{(x1,11), ..., (@0, yn)} where y; € {=1,1}.
A hyperplane in p-dimensional space is defined via

fl®) =wa) +- +wyr, +b=w"x+b=0.
In SVM, after we found an appropriate hyperplane, the decision rule is

C() = sign(f(@)).

We have y; f(x;) > 0 for correctly classified examples, so we want y; f(x;) to be as large as

possible. Our optimization problem is

max M
w,b

st fwl =1,

yi(wle, +b) > M, i=1,...,n.

We can get rid of the constraint ||w|| = 1 by requiring
yi(wTx +b) w \" b
— 0 = Y AT r+ —F - 3 1= ]-7 ,
]l [[wll [[wll
or

yi(wlx; +b) > M||lw|, i=1,....,n
If we replace w by kw for any k > 0, then the inequality does not change:
yi(kw) ' +b) > M|kwl|, i=1,...,n
I
k-y(wlz+b) >k-Mw|, i=1,....n
So we can set |w| = 1/M (ie. let k = 1/(M]|w]])). Maximizing M is equivalent to

minimizing ||w|| or ||w|[*>. The optimization problem can now be transformed as

1
min ]

)

st y(wlz; +b)>1, i=1,...,n
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This is a quadratic programming problem. The Lagrangian is
) 1 2 N T
L(w, b ) = |wl)® ;ai(yi('w x; +b) —1). (17)

We set the gradient of the Lagrangian to zero:

Vwl(w,b;a) =w — Z ayix; =0 (18)
2/: (w, b; ) Za 0 (19)
ab Wi =

Take Eq. (18) and plug it into Eq. (17), we have

1
L(w,ba) = [(04191331 + ot Qpyntn) (argpmy 4+ Oénynil?nﬂ

2
n n T
_ Z a; R Y (Z ozjyjazj> x;+b| —1
i=1 —
- % Z Oliajyiyjm;-rmj Z Z aza]yzy]m x;—b Z QY + Z oy
i—1

=1 j=1 =1 j=1

n

= Z o; — = Z Z aiozjyiyja:iT:vj.

2131

We thus arrived at the dual problem

1
m(iiX W(a) = Z g 5 ala]ylyj £y, w])

The algorithm for solving the dual problem is presented in Section 7.2.

7.1 Soft Margins

To fit a hyperplane when the data is not linearly-separable, and to be less sensitive to outliers,

we reformulate the problem as
min 1||w||2 +C En &
wbE 2 '

s.t. yz-(’szl:i—i-b)Zl—&, 1=1,...,n.
51207 2:1,,n

34



The Lagrangian of the problem is
L(w, &b o, B) = —||w||2+02a Zaz yi(xfw+b) — 1+¢) — Zﬁz& (20)
=1 =1

where @ = (ay,...,a,) and B8 = (f54,...,5,) are Lagrangian multipliers with «; > 0 and
B; > 0fori=1,...,n. As before we set the gradient of the Lagrangian to zero, to get

i=1
VeL(w, €, b;a,8) =C—-—a—-pB=0 (22)
a n
%E(w £ba,8)= ;Oﬁyi = 0. (23)

We plug these into Eq. (20), to obtain the dual problem

maXW Zaz — —ZZ& ;Y (i, ;) (24)

i=1 j=1

st. 0<o;<C, i=1,...,n (25)
i=1

After adding regularization, the only change to the dual problem is that the constraint
o; > 0 becomes 0 < o; < C.

7.2 The SMO Algorithm

We motivate the sequential minimal optimization algorithm (Platt ) by coordinate de-
scent. In coordinate descent, to maximize some function W(ay,aq, ..., ), we can first
optimize W with respect to ay, holding all other variables fixed. Then we optimize with
respect to ay while holding a4, as, ... fixed. We always go parallel to the axes.

Return to our optimization problem Eqs. (24) to (26). Can we optimize Eq. (24) while
with respect to a; while holding all other variables fixed? The answer is no because we have
the constraint Eq. (26), so that

n n
a1y = — Z oY = Q1 = =Y Z oG Y;
i=2 i=2

by the fact that y; € {—1,1} and hence 3? = 1. Hence «; is determined by all other a;’s, so

if we were to hold am, ..., a, fixed then we can’t move a; as well.
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Figure 2: Illustration of the relationship between ; and as. The optimizer (o, a3) lies on
the line segment inside the box [0, C] x [0, C].

So we must update at least two of them simultaneously. The idea of the SMO algorithm
is to exactly update two of the parameters at each iteration, and the key is that in this
situation we have an analytic solution to the optimization problem. Let’s say at some point
we want to optimize W (ay, o, ..., ) with respect to oy and ag, holding as, . . ., a;, fixed.

From Eq. (26) we first need to ensure

a1y + QlYp = — Z%’yi =k (27)
i=3

for some constant k. Specifically, When y; # y5, we have

ylzl,yQI—l - ap—as=k= ay=a; —k
h=—-1lLyp=1 — —a1t+as=k= ay=a1+k
and the graph of a; and as is as Fig. 2a. When y; = y» we have

n=Lyp=1 = apto=k= ay=—-o;+k
ylz—l,ygz—l — —Oél—()égzl{?:> OéQZ—Oél—k

and the graph corresponds to Fig. 2b.
From ay1y; + aoye = k we can write ap = (k — a1y1)y2. We substitute it into W to get

W(ar, ag,...,00) = Wia, (k—oqy1)ys, s, ..., &) = W(a),

which is a quadratic function of a;. We can set its derivative to zero and obtain the “un-
clipped” solution «j. From Fig. 2 we see that L < a3 < H for some lower bound L and
upper bound H. If o] < L, then we set it to L, while if af > H then we set it to H. Having

found af, we can then use Eq. (27) to obtain the optimal solution as3.
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We see that the SMO algorithm is very straightforward: at each step, we pick some «;
and «; to update next. We fix other variables, and then we will obtain an analytic solution

(af, ). We keep doing this until some convergence criteria is met.

7.3 Kernels

After we obtained the solution a* = (af,...,a’) for the dual problem, we can obtain the

solution for w according to Eq. (18) as

n
w = QY 5.
=1

The optimal intercept b* can also be obtained. To make prediction, we calculate

n T
flx) =wTz+ b = (Z a;‘yimi> x+0b
=1 (28)

= Zafyi<wi,w> + b
i=1

Observe that, in solving the dual problem Eqs. (24) to (26), and in the prediction Eq. (28),
we only calculated the inner products between the inputs. The idea of kernels is to substitute
the inner product (x;, ;) by a kernel K (zx;, ;) = (p(x;), ¢(x;)) for some mapping ¢ : R" —
RY, where N is typically much higher than n, and is possibly infinity. In this way, we map
the input to some higher dimensional space, so that the data may become linearly separable,
but without first calculating and storing the transformations. Mercer’s theorem says that,

roughly, if K is symmetric and positive definite, meaning

[ [ K@@y = o

for square integrable functions f, then there is ¢ such that K(z,y) = (¢(x), p(v)).

Popular kernels:

e d-th degree polynomial: K(z,2") = (1 + (z,z'))?,
e Radial basis: K(z,2") = exp(—y|lxz — 2'||?),

e Neural network: K(z,2') = tanh(ri(z, &) + ka).

7.4 SVM for More than two classes

There are two strategies to apply SVM to multi-class classification problems:
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e One-versus-all: fit K different two class SVM classifiers {fi(x), fo(x),..., fx(x)},
each class versus the rest, then classify @ to the class for which f;(x) is the largest.

e One-versus-one: fit all the ([2() pairwise classifiers f;;(x). Then classify x to be the

class that wins most of the pairwise competitions.
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|
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Finding Parameters

split4 | Fold1 || Fold2 | Fold3 || Folda | Foids |

Spiit5 | Fold1 || Fold2 || Fold3 || Fold4 || Fold5

Final evaluation { Test data

Figure 3: Illustration of cross-validation. Figure from https://scikit-learn.org/stable/

modules/cross_validation.html.

8 Model Evaluation

8.1 Cross-Validation

Cross-validation is a way for estimating the test MSE or any test metric (like accuracy, AUC,
mean absolute error etc.) without sacrificing too much data in the training set. In k-fold
cross validation, the training set is randomly divided into k& folds. For each fold 7, we fit the
model on all other folds, and then compute the metric score; on fold i. We do the same for

all k£ folds, and our final output is the average of all score;’s:

k
1
score = z E score;.

i=1
See Fig. 3 for illustration. We may have these two purposes for performing cross-validation:
(1) in some situations, we want to know how well a given statistical learning procedure

can be expected to perform on independent data; in this case, the actual estimate of

the metric is of interest;

(2) but at other times we are interested only in the location of the minimum point in the

estimated test metric curve. This is because we might be performing cross-validation
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on a number of statistical learning methods, or on a single method using different levels
of flexibility, in order to identify the method that results in the lowest test error (e.g.
when we are seeking the optimal hyper-parameters). For this purpose, the location of
the minimum point in the estimated test metric curve is important (e.g. the hyper-

parameter), but the actual value of the estimated test metric curve is not.
There is a bias-variance trade-off for cross-validation:

e Since each time we use less data to train the model, the model can perform slightly
poorly on each fold, so our estimate of the test metric may be biased upward (e.g. we

may estimate a large test error while the true test error may not be as large).

e This bias is minimized when k = n, i.e. the leave-one-out (LOO) cross validation.
However, LOO often results in high variance as an estimator for the test error. Intu-
itively, since n — 1 of the n samples are used to build each model, models constructed
from folds are virtually identical to each other and to the model built from the entire
training set. Also, LOO is computationally far more expensive (however in the case of

linear or polynomial regression, there is a direct formula for cross-validated MSE:
MSE:li Yi — Ui ?
n —1 1— hl
where g; is the prediction for y; from the OLS fit on all the data, and h; is the ith
diagonal element in the projection matrix H. This is like the classical MSE, but the
ith residual is divided by 1 — h;.)

As a general rule, 5-fold or 10-fold cross-validation should be preferred.

There are also many variants of k-fold cross validation. For example, Stratified KFold is
often used for classification problems. It returns stratified folds: each set contains approxi-
mately the same percentage of samples of each target class as the complete set. More variants

can be viewed at https://scikit-learn.org/stable/modules/cross_validation.html.

8.2 ROC curve

The receiver operating characteristic (ROC) curve is commonly used in machine learning to
measure the performance of a binary classifier. We assume that each label is represented as
a number in {0, 1}, where 0 is the “negative” label and 1 is the “positive” label. We use
the data {x;,y;}7, to learn a function s : R? — [0, 1] that assigns probability scores to its

inputs. The classification rule is


https://scikit-learn.org/stable/modules/generated/sklearn.model_selection.StratifiedKFold.html#sklearn.model_selection.StratifiedKFold
https://scikit-learn.org/stable/modules/cross_validation.html

There are four cases:
o If y; = Cr(x;) = 1 then the sample (x;,y;) is a true positive (TP).

o If y; = Cr(x;) = 0 then the sample (x;,y;) is a true negative (TN).

o If C.(x;) =1 but y; = 0 then the sample (x;,y;) is a false positive (FP).

)

)

(

e If C.(x;) = 0 but y; = 1 then the sample (x;,y;) is a false negative (FN).
The ROC curve is a plot of the true positive rate (TPR) against the false positive

rate (FPR) as 7 varies from 1 to 0. The true positive rate is how much the classifier gets

it right among the positive samples. It is defined as the size of the true positives divided by

the size of all positive samples, which consist of both true positives and false negatives:

#True Positive Samples |TP|
#Positive Samples  |TP|+ |FN|’

The false positive rate is how much the classifier gets it wrong among the negative samples.

TPR =

It is defined as the size of the false positives divided by the size of all negative samples, which

consist of both false positives and true negatives:

#False Positive Samples |F'P|
#Negative Samples ~ |FP|+ |TN|’

At 7 =1, we classify every sample as being negative (C(z) = 0). No positive sample is

FPR =

correctly classified, so true positive rate is 0. Also in this situation we are able to correctly
predict the labels of all negative samples, so the false positive rate is also 0. Thus the curve
passes the point (0,0) € R2.

At 7 = 0, we classify every sample as positive (Cy(x) = 1). In particular we classify every
positive sample as positive, so the true positive rate is 1. At the same time we get every
negative sample wrong, so the false positive rate is also 1. Thus the curve passes the point
(1,1) € R%

In general, the closer the ROC curve is to the upper left corner, the better. If the ROC
curve passes point (0,1) € R?, as in Fig. 4a, it means that the classifier is able to achieve 0%
false positive rate and 100% true positive rate, which implies that the model does perfect
classification: it classifies every positive sample as positive and every negative sample as
negative. If, on the other hand, the ROC curve is like Fig. 4b, then the model classifies
every positive sample as negative and every negative sample as positive. But this is actually
not a bad thing: we just need to reverse the prediction for every sample and then we can
get perfect classification. If the ROC curve is close to the 45 degree line (Fig. 4c), then it
means that the model is not much better than random classification.

A natural metric for comparing ROC curve is the area under the ROC curve (AUC).
AUC = 1 corresponds to the perfect classification case, and AUC = 0 corresponds to the

41



ROC - Perfect Classification ROC - Reversed Classification ROC - Random Classification

=)
o
o

—- ——- Chance
.
—— Reverse (AUC=0) g

—— Random (AUC=0.5)

o
®
\

o

3

o
=
N\
o
Y

o
kS
\

True Positive Rate (TPR)
o
=

\

True Positive Rate (TPR)
AY

True Positive Rate (TPR)

02 - 0.2
——- Chance e
—— Perfect (AUC=1) e
00 00 0.0
0.0 02 04 06 08 1.0 0.0 02 0.4 06 038 10 00 0.2 0.4 06 038 1.0
False Positive Rate (FPR) False Positive Rate (FPR) False Positive Rate (FPR)
(a) AUC = 1. (b) AUC = 0. (c) AUC = 0.5.

Figure 4: ROC curve for three extreme cases.

reversed classification case. The closer the AUC' is to 1, the better. AUC score also has a
probabilistic interpretation: It is the probability that the classifier ranks a randomly chosen
positive sample higher than a randomly chosen negative sample. We can justify this assertion
as follows: let the random variable s(X?°*) € [0, 1] denote the output score for a random
positive sample X?° and let fP°* denote its density function. Similarly let s(X"™9) € [0, 1]
denote the output score for a random negative sample X" and let f"“ denote its density.
The true positive rate as a function of the threshold 7 is

T(r) = P(s(XP) > 1) = E[I(s(X"*) > 7)] = / fros,

Similarly the false positive rate is

F(r) = P(s(X"9) > 7) = E[I(s(X") > 7)] = / frea.

AUC = /1 T (r)dF(r) = /1 1) ( / 1 fneg)
= [ = [ ([ ) resierar

= | E[(s(X**) > 7)] - f*(7)dr = E[I(s(X?”*) > s(X"))]

We have
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